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sage: 3 + 5
8
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sage: 57.1 A 100
4.60904368661396e175
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sage: matrix([[1,2], [3,41D*(-1)
[ -2 1]
[ 3/2 -1/2]
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sage: x = var('x") #O00O0OOO0OO

sage: integrate(sqrt(x)*sqrt(1+x), Xx)

1/4%((x + 1)A(3/2)/x7r(3/2) + sqrt(x + 1)/sqrt(x))/((x + 1)22/x422 - 2*(x + 1)/x + 1) -.
—1/8*log(sqrt(x + 1)/sqrt(x) + 1) + 1/8*log(sqrt(x + 1)/sqrt(x) - 1)

U000 Sage 20000000000O0Sage0 00000000 =0000

sage: a = var('a")
sage: S = solve(x*2 + x == a, X); S
[x == -1/2*%sqrt(4*a + 1) - 1/2, x == 1/2%sqrt(4*a + 1) - 1/2]

goboboobooobooobgo

sage: S[0].rhsQ
-1/2%sqrt(4*a + 1) - 1/2
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sage: show(plot(sin(x) + sin(l.6*x), 0, 40))
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sage: m = random_matrix(RDF,500)
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sage: e = m.eigenvalues() # [1 2101
sage: w = [(i, abs(e[i])) for i in range(len(e))]
sage: show(points(w))
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sage: factorial(100)
933262154439441526816992388562667004907159682643816214685929638952175999932299156089414
sage: n = factorial(1000000) # 2.50 00000
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sage: N(pi, digits=100)
3.

63976156518286-

%1415926535897932384626433832795@2884197169399375105820974944592307816406286208998628?34825342117068
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sage: R.<x,y> = QQ[]

sage: F = factor(x*99 + y*99)

sage: F

(X +y) * (xP2 - X*y + yA2) * (X726 - XA3*yA3 + yArG) *

(xA10 - xA9*y + xAB*yA2 - xA7*yA3 + XAG*yr4 - XAS*FyAS +
XA4*YyAG - XA3FYAT7 + XA2%yA8 - x*yA9 + yAlR) *

(xA20 + xA19*%y - xA17%yA3 - xA16*yArd + XA14*yA6 + xA13%yA7 -
xA11*yA9 - xA10*yA10 - xA9*yAll + xA7*yAl3 + xA6*yrld -
XA*yA16 - xA3¥yAL7 4+ x¥yAl9 + yA20) ¥ (X260 + XAS57%yA3 -
XA51*yA9 - xA48*yAl2 + xA42*yAl18 + xA39%yA21 - xA33*yA27 -
xA30%yA30 - xA27%yA33 + xA21%yA39 + xA18*%yr42 - xA12¥%yAr48 -
xXA9*yA51 + xA3*yA57 + yA60)

sage: F.expand()

X799 + y*99
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sage: z = Partitions(1048).cardinality() # [1 4.50
sage: str(z)[:40]
'1760517045946249141360373894679135204009"'
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